
10

Fairing

Screen

Screen Kit (3X Well Nuts, M5 X 16mm Bolts, Washers & Bolt Caps)

Metal Brackets (pair)

M6 X 8mm Bolts

M6 Plastic Washers

1515mm X 13mm Spacers

Rubber Trim

M6 X 25mm Bolts

M6 Square Nuts

SMOT

SMOT

SMOT

CFK21250

SMOT

SMOT

CSCSPA0023

SMOT

CBOL0220

CNUT0212       0

1

1

1

2

4

4

22

1

2

4


